four fractions,decimals, order of operations with
brackets

1 1
= x12+4-2(z—-38)=
- (5-38)

1
45+ 4(; ~4.6) =

1
5.2 45 +34) =

1 3
S x 15542024+ 2)=
3 @4+3)

3.8x8+2+5(59-32)=

Date: Score:

1
2.7%8+4=3(z —43)=

42 % 16+4+5(55+53) =

1 2
23x25+5+5(z - %)=

2
(§+42)X3_

N —

2 1
- —3(z+29)=
5 (2 )
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four fractions,decimals, order of operations with

brackets
Name: Date: Score:
1 1 &1 1 1 &9 4
—X12+4—-2(=—38)= —=8— 27 x8+4—-3(=—-43)= — =17-
2 37387107 %0 . = *I)=5 =13
1 377 17 354 4
45+4(=—46)=(—)=(—12— 42 x 16 -4+ 505.5+53)= — =70-
(5 —46)= (-55) = (1255) (5:5+53) -
1 46 1 1 2 67 1
2—4=+34)=(——)=(—9= 2. 25+5+5(=—=)= —=11-
52-4(z +34)= (-5) = (95) 3x25+5+5(3 -9 = == 1l
1 3 2 1 141 1
—X15+-5+224+ =)= —+4.2 ——= —=14—
315542024 ) =T (3442237575 10
287 7 2 1 49 4
: +2+5059-32)= — = 28— - 35129 =(C—-)=(9¢
3.8x8 5(59-3.2) 10 810 3 3(2 9)=( 5) (95)
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